
 

SBI PO Preliminary 3 

 

TEST - I: ENGLISH LANGUAGE        (Ques : 30        Marks : 30        Time : 20 M) 
Directions (Qs. 1 – 10): Read the following passage carefully and answer the questions given below it. Certain words/phrases have been                     
printed in bold to help you locate them while answering some of the questions. 

A new analysis has determined that the threat of global warming can still be greatly ​diminished if nations cut emissions of                     
heat-trapping greenhouse gases by 70% this century. The analysis was done by scientists at the National Center for Atmospheric Research                    
(NCAR). While global temperatures would rise, the most dangerous potential aspects of climate change, including ​massive losses of Arctic sea                    
ice and permafrost and ​significant sea-level rise, could be partially avoided. "This research indicates that we can no longer avoid significant                     
warming during this century," said NCAR scientist Warren Washington, the study paper's lead author. "But, if the world were to implement this                      
level of emission cuts, we could stabilize the threat of climate change", he added. Average global temperatures have warmed by close to 1                       
degree Celsius since the pre-industrial era. Much of the warming is due to human-produced emissions of green-house gases, ​predominantly                   
carbon dioxide. This heat-trapping gas has increased from a pre-industrial level of about 284 parts per million (ppm) in the atmosphere to more                       
than 380 ppm today. With research showing that additional warming of about 1 degree C may be the threshold for dangerous-climate change,                      
the European Union has called for ​dramatic cuts in emissions of carbon dioxide and other greenhouse gases to examine the impact of such cuts                        
on the world's climate, Washington and his colleagues ran a series of global studies with the NCAR-based Community Climate System Model                     
(CCSM), They assumed that carbon dioxide levels could be held to 450 ppm at the end of this century. In contrast, emissions are now on track                          
to reach about 750 ppm by 2100 if unchecked. The team's results showed that if carbon dioxide were held to 450 ppm, global temperatures                        
would increase by 0.6 degrees Celsius above current readings by the end of the century. In contrast, the study showed that temperatures                      
would rise by almost four times that amount to 2.2 degrees Celsius above current readings, if emissions were allowed to continue on their                       
present course. Holding carbon dioxide levels to 450 ppm would have other impacts, according to the climate modeling study. 

Sea-level rise due to thermal expansion as water temperatures warmed would be 14 centimeters (about 5.5 inches) instead of 22                    
centimeters (8.7 inches). Also, Arctic ice in the summertime would ​shrink by about a quarter in volume and stabilize by 2100, as ​opposed to                        
shrinking at least three-quarters and continuing to melt, and Arctic warming would be reduced by almost half.  
1. Why has the European Union called for dramatic cuts in carbon dioxide and greenhouse gas emissions?  

(1) As global warming is not an issue of concern  
(2) As the temperatures may rise almost by an additional one degree and this may lead to severe climate change. 

 (3) As the NCAR has forced the European Union to announce the cuts. 
 (4) As all the nations have decided to cut emissions of carbon dioxide.  

(5) None of these  
2. What would be the impact of unchecked greenhouse gas and carbon dioxide emissions  

(1) The temperature would rise from the current temperature by 2. 2 degrees Celsius  
(2) The sea-level would rise by about 5.5 inches (3) The arctic ice would stabilize by 2100  
(4) The arctic ice would reduce by one-fourth (5) None of these  

3. Which of the following statements is true in context of the passage? 
(1) At present the carbon dioxide emission is about 284 ppm.  
(2) The carbon dioxide emissions will be about 450 ppm at the end of this century if unchecked.  
(3) The carbon dioxide emission was about 380 ppm during the pre-industrial era.  

 (4) The carbon dioxide emissions will be about 750 ppm at the end of this century if unchecked. 
(5) None of these 

4. What does the scientist Warren Washington mean when he says "we could stabilize the threat of climate change”? 
(1) Climate change can be stopped completely. 
(2) Climate change can be regularized. 
(3)Climate change and its effects can be studied extensively.  
(4) The ill-effects of the change in climate can be minimized. 
(5) None of these 

5. Why did Washington and his colleagues conduct a series of studies? 
(1) Because they realized that the temperature increase was almost about 1 degree 
(2) So that they could stabilize the climate change 
(3) So that they could help the European Union in cutting the carbon dioxide emissions 
(4) Because they found out that the greenhouse gas emissions could be cut by 70% 
(5) To examine the impacts of emission cuts on climate 

6. What would be the impact of holding the carbon dioxide level at 450 ppm at the end of this century? 
(A) Global temperatures would increase by 0.6 degrees Celsius. 
(B) Arctic warming would be reduced by half. 
(C) Thermal expansion will stop completely. 
(1) Only (A) (2) Only (A) and (B) (3) Only (B) and (C) (4) All the three (A), (B) and (C) 
(5) None of these 

Directions (Qs. 7 – 8): Choose the word which is most similar in meaning to the word printed in bold as used in the passage. 

7. DRAMATIC 



(1) unprecedented (2) thrilling (3) spectacular (4) effective (5) feeble 
8. SHRINK 

(1) contract (2) physician (3) wither (4) shrivel (5) reduce 

Directions (Qs. 9 – 10): Choose the word which is most opposite in meaning to the word printed in bold as used in the passage. 

9. SIGNIFICANT 
(1) substantial (2) miniscule (3) incoherent (4) unimportant (5) irrelevant 

10. DIMINISHED 
(1) created (2) rose (3) increased (4) lessen (5) finished 

Directions (Qs. 11 – 15): Read each sentence to find out whether there is any grammatical error or idiomatic error in it. The error, if any, will                           
be in one part of the sentence. The number of that part is the answer. If there is no error, the answer is (5). (Ignore errors of punctuation, if                             
any.) 

11. In order of taking its (1)/ traffic management and community policing capabilities (2)/ up a notch on the streets of the city (3)/ the                        
police are purchasing Segway Patroller Scooters. (4)/ No Error (5)  

12. In its site specific ward design study (1)/ the commission have founded that the major issues (2)/ faced by the residents of the ward                         
relate to transportation (3)/ parking and solid waste management under local area plan. (4)/ No Error (5)  

13. Social media disclose that (1)/ it restricted as many as 4960 items of content (2)/ on the social networking site in India (3)/ in                        
compliance with official requests in the first half of 2014. (4)/ No Error (5) 

14. Still struggling to evolve , this nascent industry (1)/ has been in news for a variety of reasons. (2)/ For one this intangible sector has                         
sudden been witnessing (3)/ to few high profile disproportionate investments. (4) / No Error (5) 

15. The last budget changed the rules for taxing debt funds (1)/ thereby providing a disincentive to their investors (2)/ those who want to                       
invest in the share market are by (3)/ default encouraging to put their money in riskier equities. (4)/ No Error (5) 

Directions (Qs. 16 – 20): Rearrange the following six sentences (A), (B),(C), (D), (E) and (F) in the proper sequence to form a meaningful                        
paragraph; then answer the questions given below them. 

(A) Assuming that all these reasons are true, the fact re-mains that there is an urgent need to check the accelerated costs and initiate                       
suitable measures.  

(B) Some people attribute it to the increasing greediness among the medicos. 
(C) The impact of these measures will be visible only after a considerable passage of time. 
(D) Health care costs have been skyrocketing in our country. 
(E) The measures include yoga classes with emphasis on physical and mental exercises and also change in food habits. 
(F) Certain others feel that it is because of drastic changes in peoples' lifestyle and eating habits. 

16. Which of the following would be the ​FIRST​ statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

17. Which of the following would be the ​SECOND​ statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

18. Which of the following would be the ​FOURTH​ statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

19. Which of the following would be the ​FIFTH​ statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

20. Which of the following would be the ​SIXTH (LAST)​ statement after rearrangement?  

(1) A (2) B (3) C (4) D (5) E 

Directions (Qs. 21 – 25): Which of the phrases (1), (2), (3) and (4) given below each sentence should replace the word/phrase printed in bold                         
in the sentence to make it grammatically correct? If the sentence is correct as it is given and no correction is required, mark (5) as the                          
answer. 

21. The abduction and return of the local leader within twenty four hours on Wednesday has ​left some lose end that have been                      
intriguing investigators probing the case. 
(1) left some loosened endings (2) been leaving some loosening ends (3) leave some lose ends 
(4) left some loose ends (5) No correction required  

22. According to the investigators, the hammer used in the crime ​was the one who is used by security guard to sound the hourly bell on a                          
metal plate while on duty. 
(1) are those ones which (2) was the one that (3) which one 
(4) is ones that (5) No correction required 

23. The fraud comes at a time when the unregulated microfinance industry is facing a crisis ​on its way of high interest rates and low                        
repayment of loans. 
(1) because manner of (2) since ways are (3) way of 
(4) in the way of (5) No correction required 

24. Preliminary investigation revealed that the woman had committed suicide ​on account of​ her failed attempt to enter the country. 
(1) in place of (2) being depressed of (3) in belief of 
(4) reason being (5) No correction required 



25. Frustrated families of the missing people ​have sought access to all documents and data concerning the search, and the inclusion of                     
international experts in the inquiry. 
(1) have sought accessing (2) is seeking access (3) are seeking accessed 
(4) has sought accesses (5) No correction required 

Directions (Qs. 26 – 30): In the following passage, there are blanks, each of which has been numbered. These numbers are printed below the                        
passage and against each, five words are suggested, one of which fits the blank appropriately. Find out the appropriate word in each case. 

Mankind has seen rapid transformation in the last 150 years because of the mass manufacturing techniques ​(26) in western nations                    
and later taken to new levels of efficiency by Japan. Mass production and production for the masses became the bases of new business                       
strategies Large scale consumption by all with the social benefit of removing poverty became the dominant economic strategy. The advent of                     
electricity and its large-scale application to lighting, heating and operating machines added a fresh dimension to manufacturing. By the 1950s                    
came ​(27) in electronics and transistor devices to be followed by innovations in microelectronics, computers and various forms of sensors all of                      
which precisely altered the manufacturing scene. It is now no longer necessary to make prototypes in a factory or a laboratory to study a new                         
product. Many new products can be ​(28) on computers and their behaviour simulated on them. By choosing an optimum design through such                      
simulations, computer programmes can directly visualise the manufacturing processes. These processes are generally called Computer Aided                
Design (CAD) and Computer Assisted Manufacturing (CAM). These capabilities are leading to newer forms of ​(29) by customers. Each customer                    
can be offered several special options. Customised product design or flexible manufacturing are other popular techniques currently in ​(30) in                    
many developed countries. 
26. (1) discarded (2) resorted (3) indulged (4) perfected (5) designated 
27. (1) additions (2) gadgets (3) modifications (4) variety (5) inventions  
28.  (1) designed (2) produced (3) manufactured (4) sold (5) purchased 
29. (1) uses (2) demands (3) advertisements  (4) consumption (5) goods 
30. (1) view (2) wings (3) vogue (4) isolation (5) order 
 

TEST - II: QUANTITATIVE APTITUDE (Ques : 35      Marks : 35     Time : 20 M) 
Directions (Qs. 31 – 35): For the two given equations I and II. Give answer  

(1) If p is greater than q. (2) If p is smaller than q.  (3) If p is equal to q.  
(4) If p is either equal to or greater than q. (5) If p is either equal to or smaller than q.  

31. I. p​2​+ 5p + 6 = 0 II. q​2 ​+ 3q + 2 = 0 

32. I. p​2 ​= 4 II. q​2 ​+ 4q = - 4 

33. I. p​2 ​+ p = 56 II. q​2 ​- 17q + 72 = 0 

34. I. 3p + 2q - 58 = 0 II. 4q + 4p = 92 

35. I. 3 p​2​+ 17p + 10 = 0II. 10 q​2 ​+ 9q + 2 = 0 

36. A man sold a wristwatch for Rs. 2,400 at a loss of twenty five per cent. At what rate should he have sold the wrist-watch to earn a                            
profit of twenty five per cent? 

(1) Rs. 3,600 (2) Rs. 4,000 (3) Rs. 3,500 (4) Rs. 3,800 (5) None of these 

37. The average of five numbers is 56. If the average of first four numbers is 54, what is the value of the fifth number? 

(1) 68 (2) 72 (3) 56 (4) 64 (5) None of these 

38. If a number is added to seven-ninth of thirty five per cent of 900, the value so obtained is 325. What is the number? 

(1) 60 (2) 120 (3) 90 (4) 180 (5) None of these 

39. The ratio between the three angles of a quadrilateral is 1 : 4 : 5 respectively. The value of the fourth angle of the quadrilateral is 60°.                           
What is the difference between the value of the largest and the smallest angles of the quadrilateral? 

(1) 120° (2) 90° (3) 110° (4) 100° (5) None of these 

40. What least number should be subtracted from 1740, so that it will be completely divisible by 88? 

(1) 156 (2) 68 (3) 58 (4) 146 (5) None of these 

Directions (Qs. 41 – 45): Study the following table carefully to answer the questions. 

Number of students in two colleges A and B in the given years 
Years / 2001 2002 2003 2004 

Colleges Total 
Students 

Percentage 
of females 

Total 
Students 

Percentage 
of females 

Total 
Students 

Percentage 
of females 

Total 
Students 

Percentage of 
females 

A 1200 40% 1600 45% 2600 50% 2800 60% 
B 2600 45% 2400 40% 2500 44% 2500 52% 

41. In the year 2003, what is the respective ratio of number of female students in College A and that in College B? 

(1) 13 : 27 (2) 15 : 25 (3) 15 : 35 (4) 18 : 25 (5) 13 : 11 

42. What is the difference between average number of female students in Colleges A and B in the year 2003 and the average number of                        
female students in the same colleges in the year 2004? 

(1) 214 (2) 172 (3) 290 (4) 185 (5) 198  

43. In the year 2002, total strength of college B was what percent more than that of college A in the same year? 



(1) 50 (2) 25 (3) 20 (4) (5) 
 

44. What 's the total number of students in colleges A and B together in the year 2003? 

(1) 3260 (2) 2080 (3) 3250 (4) 3380 (5) 5100 

45. What is the difference between the total number of male students in colleges A and B together in the year 2001 and the total number                         
of female students in the same colleges together in the year 2001? 

(1) 500 (2) 800 (3) 820 (4) 500 (5) 850 

Directions (Qs. 46 – 50): Study the following information carefully to answer the questions. 

The teachers' colony has 2800 members, out of which 650 members read only English newspaper. 550 members read only Hindi                    
newspaper and 450 members read only Marathi newspaper. The number of members reading all the 3 newspapers is 100. Members reading                     
Hindi as well as English newspaper are 200. 400 members read Hindi as well as Marathi newspaper and 300 members read English as well as                         
Marathi newspaper. 
46. Find the difference between number of members reading English as well as Marathi newspaper and the number of members reading                    

English as well as Hindi newspaper. 
(1) 300 (2) 200 (3) 100 (4) 50 (5) None of these 

47. How many members read at least 2 newspapers? 
(1) 600 (2) 800 (3) 500 (4) 1000 (5) None of these 

48. Find the number of members reading Hindi newspaper. 
(1) 750 (2) 980 (3) 1050 (4) 1020 (5) None of these 

49. How many members read only one newspaper? 
(1) 1560 (2) 1650 (3) 1640 (4) 1540 (5) None of these 

50. Find the number of members reading no newspaper. 
(1) 150 (2) 460 (3) 550 (4) 750 (5) None of these 

51. The ratio between the present ages of A and B is 2 : 3 respectively. B's age sixteen years hence will be twice of A's age four years                            
hence. What is the difference between the present ages of A and B? 
(1) 6 years (2) 12 years (3) 8 years (4) 4 years (5) 15 years 

52. A certain sum is invested for 2 years in scheme A at 10% p.a. compound interest (compounded annually). Same sum is also invested                       
for 3 years in scheme B at x% p.a. simple interest. The interest earned from scheme A is half to that of earned from scheme B. What is                            
the value of x? 
(1) 20 (2) 9 (3) 12 (4) 18 (5) 14  

Directions (Qs. 53 —55): Study the given information carefully and answer the questions that follow: 

An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. 
53. If four marbles are picked at random, what is the probability that at least one is blue? 

(1) (2) (3) (4) (5) None of these 
54.  If two marbles are picked at random, what is the probability that both are red? 

(1) (2) (3) (4) (5) None of these 
55.  If three marbles are picked at random, what is the probability that two are blue and one is yellow? 

(1) (2) (3) (4) (5) None of these 

Directions (Qs. 56 – 60): In each of the following questions a number series is given which has only one wrong number. You have to find out                           
the wrong number. 

56. 7.5 47.5  87.5 157.5 247.5 357.5 487.5 

(1) 357.5 (2) 87.5 (3) 157.5 (4) 7.5 (5) 47.5  

57. 13 16 21 27 39 52 69 

(1) 21 (2) 39 (3) 27 (4) 52 (5) 16  

58. 1500 1581 1664 1749 1833 1925 2016  

(1) 1581 (2) 1664 (3) 1833 (4) 1925 (5) 1749  

59. 66 91 120 153 190 233 276 

(1) 120 (2) 233 (3) 153 (4) 276 (5) 190  

60. 1331 2197 3375 4914 6859 9261 12167  

(1) 4914 (2) 6859 (3) 9261 (4) 2197 (5) 12167  

Directions (Qs. 61 – 65): Study the radar graph carefully and answer the questions that follow: 

Monthly Salary (in thousands) of five different persons in three different years 



 
♦​ 2008 Ὶ 2009 һ 2010 

61. What was the average monthly salary of Sumit in the year 2008, Anil in the year 2009 and Jyoti in the year 2010 together? 
(1) Rs.20,000 (2) Rs.25,000 (3) Rs.45,000 (4) Rs.15,000 (5)None of these 

62. Total monthly salary of Arvind in all the years together was what percent of the total monthly salary of all the five persons together in                         
the year 2008? 
(1) 55 (2) 60 (3) 75 (4) 70  (5) None of these 

63. Among the five persons whose earning per month over all the years together is second lowest? 
(1) Sumit (2) Anil (3) Jyoti (4) Arvind (5) Poonam 

64. What was the percent decrease in monthly salary of Poonam in the year 2009 as compared to her monthly salary in previous year? 
(1) 40 (2) 10 (3) 20 (4) 80 (5) None of these 

65. If Jyoti's monthly salary in the year 2010 was increased by 30 percent then what would be her monthly salary in that year? 
(1) Rs.36,000 (2) Rs.39,000 (3) Rs.45,000 (4) Rs.42,000 (5) None of these 

TEST - III: REASONING ABILITY   (Ques : 35        Marks : 35        Time : 20 M) 
Directions (Qs. 66 – 68): Read each statement carefully and answer the following questions: 

66. Which of the following expressions will be true if the expression R > O = A > S < T is ​definitely true​? 
(1) O > T (2) S < R (3) T >A (4) S = O (5) T < R 

67. Which of the following symbols should replace the question mark (?) in the given expression in order to make the expressions 'P > A'                        

as well as T  L' definitely true? 

P > L? A N = T 

(1) (2) > (3) < (4) (5) Either   or < 
68. Which of the following symbols should be placed in the blank spaces respectively (in the same order from left to right) in order to                        

complete the given expression in such a manner that makes the expressions 'B >N' as well as D  L' definitely true ? B_L_O_N_D 

(1)  =, =, , (2 ) >, , =,  > (3)  >, <, =, (4) >, =, =, (5)  >, =, , > 

Directions (Qs. 69 – 70): In the following questions, the symbols @, #, $, Ἑ and % are used as illustrated below: 

'P @ Q' means 'P is not smaller than 'Q'. 
‘P # Q' means 'P is neither greater than nor equal to Q'. 
'P $ Q' means 'P is neither smaller than nor greater than Q'. 
`P Ἑ Q' means 'P is not greater than Q'. 
'P % Q' means 'P is neither smaller than nor equal to Q'. 

Now in each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them                          
is/are ​definitely true. ​ ​Give answer  

(1) If only Conclusion I is true. (2) If only Conclusion II is true. 
(3) If either Conclusion I or II is true. (4) If neither Conclusion I nor II is true. (5) If both Conclusions I and II are true. 

69. Statements: M $ K, D Ἑ K, R # K  
Conclusions: I. D $ M II. M % D 

70. Statements: F Ἑ M, M % R, E @ F 
Conclusions: I. M % E II. R @ E 

Directions (Qs. 71 – 75): Study the following information carefully and answer the questions given below: 

Six friends - Hetal, Jayshree, Rohini, Meena, Nidhi and Swati, stay in different areas of a city i.e. Dadar, Matunga, Mulund, Vikhroli,                      
Thane and Kanjurmarg but not necessarily in the same order. All six have different hobbies which are singing, dancing, drawing, travelling,                     
cooking and reading but not necessarily in the same order. Hetal stays in Vikhroli and her hobby is neither dancing nor reading. The one whose                         
hobby is travel-ling stays in Mulund. Jayshree's hobby is drawing and she does not stay in either Dadar or Matunga. Meena stays in Kanjurmang                        
and her hobby is cooking. Rohini likes reading but she and Nidhi do not stay in Matunga. 
71.  What is Swati's hobby? 

(1) Singing (2) Dancing (3) Reading (4) Travelling (5) None of these 
72. Whose hobby is singing? 

(1) Nidhi (2) Rohini (3) Swati (4) Hetal (5) None of these 



73. Whose hobby is travelling? 
(1) Hetal (2) Swati (3) Nidhi (4) Rohini (5) None of these 

74. Where does Jayshree stay? 
(1) Thane (2) Vikhroli (3) Kanjurmarg (4) Mulund (5) None of these 

75. Where does Rohini stay?  
(1) Matunga (2) Mulund (3) Thane (4) Dadar (5) None of these 

Directions (Qs. 76 – 80): Study the following information and answer the questions given: 

Seven people - A, B, C, D, E, F and G are sitting in a circle. Five of them are facing the centre while two of them are facing opposite to                               
the centre. C sits third to the left of D and both are facing the centre. E is neither an immediate neighbour of D nor of C. The one sitting exactly                               
between D and F is facing opposite to the centre. G sits third to the right of A and G is facing the centre. One of B's neighbour is facing opposite                               
to the centre. 
76. Which of the following pairs represents persons, facing opposite to the centre? 

(1) A and F (2) E and F (3) A and E (4) Cannot be determined 
(5) None of these 

77. Who is sitting second to the left of A? 
(1) C (2) G (3) E (4) B (5) None of these 

78. Who is sitting to the immediate left of E? 
(1) C (2) G (3) B (4) A (5) None of these 

79. What is the position of F with respect to B? 
(1) Fourth to the left (2) Second to the right (3) Third to the right (4) Second to the left 
(5) None of these 

80. If all the persons are asked to sit in a clockwise direction in an alphabetical order starting from A, the position of how many will                          
remain unchanged, excluding A? 
(1) Three (2) One (3) Two (4) None (5) Four 

81. Read the following information carefully and answer the given question: 
Many manufacturing companies are now shifting base to the rural areas of the country as there is a scarcity of space in urban areas. Analysts                         

say that this shift will not have a huge impact on the prices of the products manufactured by these companies as only about 30%                        
consumers live in urban areas. 
Which of the following maybe a​ consequence​ of the given information? 
(1) The prices of such products will decrease drastically in the urban areas 
(2) People living in urban areas will not be allowed to work in such manufacturing companies 
(3) These manufacturing companies had set-ups in the urban areas before shifting base 
(4) Those who had already mi-grated to the urban areas will not shift back to rural areas 
(5) The number of people mi-grating from rural to urban areas in search of jobs may reduce 

82. Read the following information carefully and answer the given question: 
'Pets are not allowed in the park premises' - A notice put up at the park entrance by the authority that is responsible for maintenance of the                           

park.  
Which of the following can be ​an assumption according to the given information? (An assumptionis something that is supposed or taken for                      

granted) 
(1) At least some people who visit the park have pets. (2) This is the only park which does not allow pets 
(3) People who ignored this notice were fined (4) There are more than one en-trances to the park 
(5) Many people have now stopped visiting the park 

Directions (Qs. 83 – 85): In each question below is given a statement followed by two courses of action numbered I and II. A course of action                           
is a practicable and feasible step or administrative decision to 'be taken for followup, improvement, or further action in regard to the                      
problem, policy, etc. On the basis of the information given in the statement, you have to assume everything in the statement to be true, and                         
decide which of the suggested courses of action logically follow (s) for pursuing. Give answer  

(1) If only I follows. (2) If only II follows. (3) If either I or II follows (4) If neither I nor II follows 
(5) If both I and II follow. 

83. Statement: The sales of ball point pens manufactured by company Lixus have gone down considerably ever since the same company                    
introduced a gel ink pen in the market. 
Courses of action 
I. Ball point pens should not be manufactured by Lixusany more. 
II. Lixus should immediately withdraw all gel ink pens from the market so as to force people to buy ball-point pens. 

84. Statement:​ Nearly 26 per cent of all engineering graduates have been left unemployed owing to severe recession worldwide. 
Courses of action 
I. All the unemployed students should be advised to take up jobs in foreign countries. 
II. The unemployed students should be advised to take up jobs only after the recession is over. 

85. Statement: The government airline has been making huge losses even as private airliners continue to prosper and make substantial                   
profit.  
Courses of action 
I. All the private airlines should be banned from their operation in the country. 
II. The government airline should be instructed to increase passenger fare significantly in order to increase its profit. 



Directions (Qs. 86 – 90): In each of the questions below are given three statements followed by three conclusions numbered I, II and III. You                         
have to take the given statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and                          
then decide which of the given conclusions logically follows from the given statements disregarding commonly known facts. 

86. Statements:  All pins are rods. Some rods are chains. All chains are hammers.  
Conclusions: I. Some pins are hammers. II. Some hammers are rods. III. No pin is hammer. 
(1) Only I follows (2) Only II follows (3) Only III follows (4) Only either I or III and II follow 
(5) None of these 

87. Statements: Some books are papers.​ ​ Some papers are desks.​ ​Some desks are chairs.  
Conclusions: I. Some books are desks. II. Some papers are chairs. III. Some books are chairs. 
(1) None follows (2) Only I follows (3) Only II follows (4) Only III follows (5) Only I and II follow 

88. Statements: Some pots are buckets. All buckets are tubs. ​ ​All tubs are drums.  
Conclusions: I. Some drums are pots. II. All tubs are buckets. III. Some drums are buckets. 
(1) Only I and II follow (2) Only I and III follow (3) Only II and III follow (4) All follow (5) None of these 

89. Statements: All pins are bags.​ ​All chalks are bags. ​ ​All needles are bags.  
Conclusions: I. Some needles are pins. II. Some chalks are needles. III. No needle is pin. 
(1) Only I follows (2) Only III follows (3) Only either I or III follows (4) Only either I or II and III follow 
(5) None of these 

90.  Statements: Some buses are trucks.​ ​Some trucks are boats.​ ​No boat is jeep. 
Conclusions: I. Some jeeps are buses. II. Some boats are buses. III. Some jeeps are trucks. 
(1) None follows (2) Only I follows (3) Only II follows (4) Only III follows (5) Only II and III follow 

Directions (Qs. 91 – 95): Read the following information and five statements given below it carefully and answer the questions which follow. 

Steve Jobs himself said it: "It's smart to take an existing idea and enhance it beautifully." Apple did it and so did some of the most                          
successful brands worldwide. To be successful, it is not essential to innovate every time. Old stuff in new packaging helps as well and is often                         
referred to as 'innovation' which is a combination of innovation and imitation. 
(A) As an innovation is a standalone product in the market, it reaps in all the profit till the 'innovators' imitate it, 'Innovation', however, is                        

not profitable as there are many imitated products in the market at the same time, all reducing each other's profits. 
(B) Brand X duplicated Brand Y's mobile phones with exactly the same features and same price range but failed to make an impact in the                        

market. 
(C) No one remembers the innovators after some time because they did not turn their idea into success. On the other hand the imitators                       

did what they had to just at the right time. 
(D) While Sanfy invented portable MP3 players, it was Apple which enabled MP3 players to play videos and games at a fairly reasonable                      

price, thus capturing the market. 
(E) 'Innovation' is a lot less risky business venture. An imitator is already equipped with the analysis of how market received the                     

innovation. 
91. Blind imitation of a product can never be successful and sustainable. 
Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above proves the above statement most appropriately? 

(1) D (2) B (3) C (4) E (5) Both A and C 
92. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above represents an ​advantage ​of imitating an existing                    

product? 
(1) B (2) Both B and D (3) E (4) Both C and B (5) Both A and D 

93. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above would contradict the fact that imitation of products is a                       
successful market strategy? 
(1) A (2) C (3) D (4) E (5) Both B and E 

94. 'Companies must odd such values to their imitated products that not only distinguish their imitation but also odd to customer                    
satisfaction.' 

Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above proves the above statement most appropriately? 
(1) A (2) Both A and B (3) Both A and E (4) Both A and C (5) Both B and D 

95. Read the following statement and answer the question which follows: 
The first ever low-cost tablet with a 3 hours battery which works only with Wi-Fi for accessing the Internet will be a game changer for India's                          

rural population who have been on the wrong side of the digital divide in the country,' - Stated Company X, the manufacturers of the                        
tablet on their role in providing access to Internet throughout India. 

Which of the following can be ​assumed/ inferred from the given statement? (An ​assumption is something that is not directly stifled but is                       
supposed or taken for granted and an inference is something which is not directly stated but can be inferred from the given facts.) 
(1) Wi-Fi connections are al-ready available in rural parts of India 
(2) Other tablets did not have the features such as Wi-Fi connectivity 
(3) Improvement in accessibility to Internet would help education sector the most 
(4) A mere three hour battery would be grossly insufficient to maximize its benefits 
(5) The tablet would not benefit urban population in India as much as the rural population 

Directions (Qs. 96 – 100): Study the following information to answer the given questions: 

In a certain code ​'a friend of mine' ​is written as '4 9 1 6’ ‘​mine lots of metal​' is written as ' 3 1 0 9' and '​a piece of metal' is written as                                   
7 1 6 3'. 
96. What is the code for ‘piece’? 

(1) 3 (2) 6 (3) 1 (4) 7 (5) Can’t be determined 
97. What does '9' stand for? 



(1) of (2) mine (3) friend (4) lots (5) metal  
98. Which of the following may represent 'a pleasure of mine’? 

(1) 6309 (2) 5216 (3) 9216 (4) 3694 (5) 5041  
99. What does '0' stand for? 

(1) mine (2) metal (3) of (4) lots (5) a 
100. '8 7 3' would mean 

(1) a metal piece (2)metal for friend (3) piece of advise (4) friend of mine (5) large metal piece 
 
  



 
 

ANSWER KEY 

 
 

HINTS & SOLUTIONS 
 
1. (2) As the temperatures may rise almost by an additional one          

degree and this may lead to severe climate change 
2. (1) The temperature would rise from the current        

temperature by 2.2 degrees Celsius 
3. (4) The carbon dioxide emissions will be about 750 ppm at the           

end of this century if unchecked. 
4. (4) The ill-effects of the change in climate can be minimized 
5. (5) To examine the impacts of emission cuts on climate 
6. (2) Only (A) and (B) 
7. (3) The meaning of the word ​Dramatic (Adjective) as used in           

the passage is : sudden, very great and often surprising;          
exciting and impressive; spectacular. 

Look at the sentence: 
The announcement had a dramatic effect on house prices. 
8. (1) The meaning of the word ​Shrink (Verb) as used in the           

passage is : to become smaller; contract. 
Look at the sentence: 
The market for their products is shrinking. 
9. (4) The meaning of the word ​Significant (Adjective) as used in          

the passage is : large or important enough to have an           
effect or to be noticed. 

Its antonym should be ​unimportant. 
10. (3) The word ​Diminish (Verb) means: to become or to make          

something become smaller, weaker etc; decrease. 
Look at the sentence:​ The world's resources are diminishing 
The antonym of ​diminished ​should be increased. 

11. (1) In order to do something = with the purpose or intention            
of doing or achieving something. 
Look at the sentences : 
She arrived early in order to get a good seat. 

Hence, In order to take their………… should be used here. Police is            
generally used in Plural. 

12. (2) Here, the commission (singular) has found………….should      
be used here. 

Find found (Past)  found (Past participle) 

Found to start something; establish. 

Found founded (Past) founded (Past participle). 

13. (1 ) The event relates to the present and has effect on present.           
Hence, Present Perfect i.e., Social media has disclosed that         
........should be used here. 

14. (3) Here, For one this intangible sector has suddenly (Adverb)         
been witness (Noun)……..should be used. Look at the        
structure of the sentence. 

15. (4) In Passive Voice, V​3 i.e., default encouraged to put          
their………should be used here. 

16. (4) 17. (2) 
18. (1) 19. (5) 20. (3) 
21. (4) Idiom ​at loose ends means: having nothing to do and not           

knowing what you want to do. 
22. (2) Here, ​was the one that should be used. Relative pronoun          

who​ is used to show which person or people you mean. 
23. (4) in the way of  
24. (5) No correction required  
25. (5) No correction required  
26. (4)  perfected 
27. (3) modifications 
28. (1) designed 
29. (2)  demands 
30. (3) vogue 

31. (5) I.  + 3p + 2p + 6 = 0 

 (p + 3) +2 (p + 3) = 0  

 (p + 3)(p + 2) = 0 

p = 2 or- 3 

II  + q + 2q + 2 = 0 

 q(q + 1) + 2 (q + 1) = 0 

 (q + 1)(q + 2) = 0  

q = - 1 or - 2 

Obviously p  q 

32. (4) I. p =  2 

II. + 2q + 2q + 4 = 0 

  q(q + 2) + 2 (q + 2) = 0 

 (q + 2) (q + 2) =0  

q = - 2 

Obviously, p  q 




